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The opinions in these slides are my own and not those 
of Cornell or any other entity.



SHOULD IE8 SUPPORTSHOULD IE8 SUPPORT 
OPEN STANDARDS?



Possible IE8 Division of WorkPossible IE8 Division of Work
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Steve
Sticky Note
15% may be a high estimate for the percentage of the IE team dedicated to working on new features in IE8.  It could be more like 5%, depending on how you count developer time spent bug fixing.
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How Do Standards Fit?How Do Standards Fit?

• Competitors want standards because they wantCompetitors want standards because they want 
to have an avenue to compete in the market.

• Customers and activists want standards to gainCustomers and activists want standards to gain 
leverage against monopoly control.

• Government is a BIG customer and listening to• Government is a BIG customer and listening to 
influence from competitors and customers.

• Microsoft wants the web to work and grow• Microsoft wants the web to work and grow, 
because they want to capture a larger share of a 
growing marketgrowing market.



MSFT SHOULD BE CONFLICTEDMSFT SHOULD BE CONFLICTED



Managing ConflictManaging Conflict

Some program managers willSome program managers will …

• … fight for the customer

fi h f S• … fight for MSFT

• … fight for inter‐op

• … fight for the technology

• fight for legal… fight for legal

• … fight to SHIP!!!*
*shipping is a feature … at least it was at one pointpp g p



IE8’s Property vs. Attribute Access



URLs, URIs, and URNsURLs, URIs, and URNs

• Who knows the difference between them?Who knows the difference between them?

• Who can tell me …
H h b l d i 1998?– How has <base> evolved since 1998?

– The difference between a URI and a URI 
reference?reference?

– The difference between a URI and a XML 
namespace?namespace?



HOW IS IBM DIFFERENT?HOW IS IBM DIFFERENT?



Business Model Differences:
fSoftware versus Services

• IBM earns significant revenue from selling 
specialized labor rather than the fruitsspecialized labor rather than the fruits

• Open source requires specialized labor

• But services are typically lower margin than 
productsproducts



WHAT HAPPENS IN THEWHAT HAPPENS IN THE 
STANDARDS MEETINGS?

Steve
Sticky Note
During my talk, I tried to cover some of the reasons that consortia don't always have binding impact on corporate behavior.  And they shouldn't.  One of the reasons that the standards groups have slowed down is that these groups only succeed at codifying existing consensus. They cannot create consensus when people arrive in the room with different agendas and no motivation to reach an agreement.  Some IETF groups are a good example of this.  Groups that succeed often have a critical mass of members already in agreement on principles with only details to hammer out.  Cem Paya (Google) points out that email signing is a counter-example.  SenderID and open source critics could never see eye-to-eye.  But one solution to this that companies will seek is to spin off private consortium with restricted membership (think cell phone standards).



Business isn’t always done in the roomBusiness isn t always done in the room

• “Meetings are to communicate decisions”

• Each company will build a corporate strategy and the 
people in the meeting will work towards it Thepeople in the meeting will work towards it.  The 
contradictions give them an opportunity to blame 
someone not in the room (if they even 
know/understand what’s going on)know/understand what s going on)

• There are a number of freelance people who fight for p p g
the technology.  Code used to win.  Things have slowed 
down.  These people need to align themselves to 
survive.


